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2 AHEKE Hifi | REPEREE

16 m LUTIXEARERY 1,406
16 m 2882 40 m LUTDR 91 50
40 m ZHZ 60 m LU FDH 93 130
60 m F#X 100 m LU FDH 99 490
100 m %# % 200 M LI FDH 109 1,490
200 m F#B X 600 m LI FD 5 118 3,290
600 m F#EX 2,000 m LUTFDOH 139 15,890
2000 m X 10,000 m LA FD 5 156 49,890
10,000 m Bz 5% 182 309,809
NRABIGZBFK 1mIZOE 5 0

[FtEK]
( 2hAHKE x Hifi — XEERE ) x CHER)
= AHTKEFERMIARBYET

[GtEH1) 2mhAHEKE 50mDIGE
( 50m x 93 — 130 ) x 1.1 = 4972 CGEEF10%)
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17 AHEkKE Biffi | REEREE

8 m LITFIXEKRFERAF 703M
8 m ZHZx 20 m U TFDH 91 25
20 m B x 30 m UTFDH 93 65
30m F#x 50 m U TFDH 99 245
50 m F#E X 100 m LU FDH 109 745
100 m %# % 300 M LI FDH 118 1,645
300 m ##EX 1,000 m L FD5 139 7,945
1,000 m Z# % 5000 m LUTFDOH 156 24,945
5000 M Z#{BZ 5% 182 154,945
NRBIGEK 1m(ZO=F 5 0

[FtE=K]
( 1MAHKE x Hifi — EEERE ) x CHER)
= AHTKEFERMIARBTET

[Et&EH] 1MAHEKE 00mDIGE
( 900m x 139 — 7,945 ) x 1.1 = 128870 GHZEF10%)



